&Y —72 (1HH)
(1) KirFERITSOVRA (A-BY—Y)

DR Ta—IL 1253-353-12%)

BRAARFR  XF BR W — R A B ks R OH
N R 1 —0 .
1 900 |UJ35AY vs - 1 - 0 Anillo
0o — 1
2| 935 Anillo  vs K% 0 —— 2 K
S« 4 — 0
3| 1010 |F5LFY vs wLvvkzsl 6 ——— 0 %S
. 0— 0
4 10:45 LSA VS B 2 I 0| V5 %Y
. o —— 0 — 2 .
5| 1120 |J5v4> vs WAE |0 ——F 3 it
6| 1155 | Anilo vs LsA |0 2=2 4| uwums
0 — 1
1 — 1
7 | 12:30 K VS tLyrdzEal 1 - 1 LSA
. 1 —0
8| 1305 N& vs  BmE 2 - 1 |ELvrshzs
\ - 0 — 2
9 | 1340 X¥€ vs WHEE |0 ——— 5 NG
. 0 — 1
10| 14:15 Anillo Vs BT 0 ™. 2 k&
. 00— 0 .
11| 1450 |twLveszs vs  LUAE | 0 . 3 B
0— 4
12| 15:25 R& Vs LSA 0 —— 10|tvvrmzs
Qxtk
AY—5 T35 F| %% |tvvewze| UARE | Ba | 88 | &£A |BkA| B
N2 1 — o|6 — olo — 3| 6 7 3 2
2 %K¥ |0 — 1 1 — 1lo — 5 1 1 7 -6 3
3|leLvemzslo — 6|1 — 1 o — 3| 1 1 10 -9 4
4 WWHE¥E [3 — 0|5 — 0|3 — 0 9 11 0 11 1
BJ—% | Anillo AE 3 LSA pyeal Ba | B85 | k8 |/ka| B
1| Anillo 0o — 2fo0 — 4]0 — 2f o 0 8 -8 4
2 R&E |2 — o0 0o — 1002 — 1f 6 4 11 -7 2
3] LSA |[4 — ofo — o0 o — of 9 16 0 16 1
4| #Bm |2 — o|1 — 2(0o — 2 3 3 4 -1 3




&Y —72 (1HH)
(2) KiEEMT59FB (C-DY—%)

@Zb’t)l_)b 12§J\_3§J\_12§J\
pRaaRR xR o — R B e
— o . 0 — 1
1 9:00 DEH Vs /SARKy—O - 2 |CavL—no
1 — 0 .
2| 935 |YarlL—A vs 1% - 0 | /SRK»—0O
1 — 1
3| 10:10 Bing vs fHIET - 1 i
0 — 3
4 | 10:45 J\IEE VS 9U7F—\Bi - 6 tR™
5| 11:220 | DEE vs YavlL—n T 2 |urries
o . 1 — 0 —-
6 | 11:55 |/SRF»—0O vs e —— 0| D=H
. 3 — 0
7 | 12:30 BEng vs J\IB&E - 0 i
1 — 0
8| 13:.05 MIE™ VS oI7T— B - 1 I\IBE
— 1 — 0
9| 1340 | DEHE Vs i o 0| ME®
10| 1415 [/$RK»—A vs avl—n —— 3| omm
11| 1450 BIE VS su7si— s ‘1) — 3 3 | $xpm—n
12| 1525 | #EHm vs J\ESE — 0| B
Qxt#; K
cy)—4 | pEE |/zxrs—a|varL—n i Ba | B8 | &5 |B%kA| B
1| DEH o — 2/0 — 2 — 0 3 1 4 -3 3
2(/fRFw—0f2 — 0 2 — 32 — 0 6 6 3 3 2
3[arL—nol2 — o3 — 2 — of o9 6 2 4 1
4 ¥ o — 1|0 — 2]10 — 1 0 0 4 -4 4
DIy—%4 BErg WET | I\EE |wrr—es| BE | 88 | k8 |BkE| B
1 Bing 2 — 118 — o1 — 3 6 11 7 1
2| #WE™H |1 — 2 6 — 0fl2 — 1 6 9 6 3
3| /\#E&E |0 — 8|0 — 6 0 — 6 0 0 20 -20 4
4|ors—rrmls — 1|1 — 2|6 — 0 6 10 7 9




HEN—F A N2H B)

28 . EBE=INERA Ay BRI oA 2f6i: arl—A
/\ox]\\“?_n 3L YITTF4— Bl
1 2
@
3 I 1
1 2 () 2 1
®
0 1 6 1 1 2 0 0
0T e
Al D2 C1 B2 Bl C2 D1 A2
IWHEE  2rr— el Pavl—a K&k LSA RARy—wm B TIF v
L1 L L]
6 0 ©) 1 0
0 I 8
4 I 5
AT Va2V 124)-35-12%
BH 45 R X e 7 — R oA e | 3 OH
@ 9:30 W VS surr—r e ; L @k
. OS5 o L AZ_ 6 — 1
@ 10:05 |[>a>L—0O vs JNE = D&alr
@)| 1040 | LsA vs s8zEy—al] - 2 %
...l 0 — 0
@| 1115 | BB vs FSVAY @&+
0 PK 2
®| 1150 (L wmE vs Ax 20— 0 | eaus
PK
@ 12:95 %7')77‘-4—/0?116 VS lep—u% 1 - 2 Galt
PK
@] 1300 2 Lsa vs mpe 2l — 0 | eau
PK
13:35 %/\"xﬁv—n VS 7“591’9% 2 - 1 @&l
PK
@] 1410 |2 Az vs B 22— B | eas
PK
1445 |2 WA vs LSA - ° @&F
PK
)| 1520 |© rrrmn vs w3opr O3 T L oa4
a 8 PK
@)| 1555 |9 vari—a vs saro—n @l T 2 &
PK




FxlL o Ph—FANM2H B)

2% . EEE=/IFEB R T 2fi: DEH
L 1R
AR T
1 PK 1
© 2-3
0 I 1
1 4 @ 0 3
®
5 0 6 0 1 2 0 0
® ‘ @ \ ® ‘ PK \
7-6
A3 D4 C3 B4 B3 C4 D3 A4
K M\#EE D&M  Anillo M 2 ) T A P
IR R A A A
0 5 ©) 0 1
0 I 5
PK
2 I 3-2 2
AV 2— )b 1253-353-12
BH AR R Xt He 7 — K B
)| 9:30 SE Vs \IEE | e 0 @%
@)| 1005 | DEE vs  Anilo j - 0] oan
@)| 1040 | mE vs 4% 1 - 2 %
@| 1115 | wESH  vs wvrswzald 0| eat
7 PK 6
®)| 1150 |L /\#E& vs Anillo 2 . @&l
PK
®| 1225 | %% vs pmm &l .t eas
PK
@D| 1300 |2 mE vs weewen @0 T L | eas
PK
1335 |2 & vs MEW G| @fH
PK
@| 1410 |3 NiE& vs mE B0 @&+
PK
: © - " @i 2 — 2
1445 |5 Anillo VS woiezsgot o ff ORH
)| 1520 |§ %% vs @ 0 . 1 DE+
PK
® o= 1 —
: > = VS £l > [
D| 1555 |g D&EH R gy DR




